	Volumes of revolution:  rotating about x axis
The formula is:
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Example:  The diagram shows the graph of 
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.  The region trapped between the lines x = 1, x = 4 and y = 0 is shaded.  This region is rotated completely about the x-axis.  Find the volume generated.
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Volume = 
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	Key results to be learnt!!
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	Volumes of revolution: rotating about y axis

The formula is:
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[image: image24.wmf]Example:  The diagram shows the graph of 
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	Integration examples:
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	The region trapped between the lines y = 3,
 y = 5 and the y-axis is rotated through 360° about the y-axis.  Find the exact value of the volume generated.
Step 1:  Rearrange the equation to make x the subject.
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Step 2:  Substitute into formula

So volume = 
[image: image20.wmf](

)

5

2

22

3

4

y

y

xdyedy

p

p

-

=

=

òò


      
      = 
[image: image21.wmf]5

24

3

4

y

edy

p

-

ò

 = 
[image: image22.wmf]5

24

3

1

42

y

e

p

-

éù

êú

ëû



      = 
[image: image23.wmf](

)

62

8

ee

p

-




� EMBED FXDraw200.Document  ���














� EMBED FXDraw200.Document  ���











[image: image25.wmf]_1205499707.unknown

_1205500665.unknown

_1205501195.unknown

_1205501413.unknown

_1205561404.bin

_1205500762.unknown

_1205500816.unknown

_1205500511.unknown

_1205500641.unknown

_1205499820.unknown

_1205499084.unknown

_1205499605.unknown

_1205499651.unknown

_1205499486.unknown

_1205488718.unknown

_1205488833.unknown

_1205498068.unknown

_1205488864.bin

_1205488743.unknown

_1205488635.unknown

_1205488649.unknown

_1205488673.unknown

_1205488588.unknown

